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All Candidates' performance across questions

Question Title N Mean S D Max Mark F F Attempt %
1 1252 4.2 1.6 8 52.8 99.8
2 1250 4.8 2 9 53.5 99.6
3 970 8.1 3.4 18 44.8 77.3
4 277 9.1 4.4 18 50.5 22.1
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Sticky Note
Usually the question number

Sticky Note
The number of candidates attempting that question


Sticky Note
The mean score is calculated by adding up the individual candidate scores and dividing by the total number of candidates. If all candidates perform well on a particular item, the mean score will be close to the maximum mark. Conversely, if candidates as a whole perform poorly on the item there will be a large difference between the mean score and the maximum mark. A simple comparison of the mean marks will identify those items that contribute significantly to the overall performance of the candidates.
However, because the maximum mark may not be the same for each item, a comparison of the means provides only a partial indication of candidate performance. Equal means does not necessarily imply equal performance. For questions with different maximum marks, the facility factor should be used to compare performance.


Sticky Note
The standard deviation measures the spread of the data about the mean score. The larger the standard deviation is, the more dispersed (or less consistent) the candidate performances are for that item. An increase in the standard deviation points to increased diversity amongst candidates, or to a more discriminating paper, as the marks are more dispersed about the centre. By contrast a decrease in the standard deviation would suggest more homogeneity amongst the candidates, or a less discriminating paper, as candidate marks are more clustered about the centre.


Sticky Note
This is the maximum mark for a particular question


Sticky Note
The facility factor for an item expresses the mean mark as a percentage of the maximum mark (Max. Mark) and is a measure of the accessibility of the item. If the mean mark obtained by candidates is close to the maximum mark, the facility factor will be close to 100 per cent and the item would be considered to be very accessible. If on the other hand the mean mark is low when compared with the maximum score, the facility factor will be small and the item considered less accessible to candidates.


Sticky Note
For each item the table shows the number (N) and percentage of candidates who attempted the question. When comparing items on this measure it is important to consider the order in which the items appear on the paper. If the total time available for a paper is limited, there is the possibility of some candidates running out of time. This may result in those items towards the end of the paper having a deflated figure on this measure. If the time allocated to the paper is not considered to be a significant factor, a low percentage may indicate issues of accessibility. Where candidates have a choice of question the statistics evidence candidate preferences, but will also be influenced by the teaching policy within centres.
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2. (a) Suggest two reasons for variations in the size of carbon 
stores in Figure 2.  
 
Content: 3.1.7   AO
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Indicative content 
 
Candidates are expected to be familiar with three physical factors affecting plant growth and therefore 
carbon storage within different biomes: temperature, precipitation and light. 
 
Temperature: Areas with high average annual temperatures e.g. Tropical Rainforest (25°C and 30°C) 
will experience year-round growth and carbon sequestration, meanwhile areas further from the 
equator, temperatures will be lower and thus growth and carbon sequestration will be more limited. 
 
Precipitation: Rainfall is a vital factor contributing to rate of plant growth and therefore biomass 
carbon storage.  
 
Light: The amount of light will affect rates of photosynthesis, which affect the plant’s ability to grow and 
therefore carbon sequestration. The sun’s rays are affected by latitude and consequently there is 
significant seasonal variation in higher latitudes (e.g. Tundra), meanwhile little seasonal variation in 
equatorial regions (e.g. Tropical Rainforest). 
 
Credit other valid points. 
 


Award the marks as follows: 


Band Marks  


3 4-5 
Suggestions show sound understanding of reasons for variations in the size of 
carbon stores and there is clear application to the resource. 
 


2 2-3 
Two suggestions demonstrating understanding of reasons for variations in the 
size of carbon stores applied to the resource i.e. reference to specific biomes 
from the diagram may be unbalanced. 


1 1 
Largely descriptive of the resource, tentative suggestions for reasons for the 
variations in the size of carbon stores shown in the different biomes in the 
resource.  


 0 Response not creditworthy or not attempted. 
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Sticky Note

Clear confident start, candidate knows that light is one of the factors responsible for variations in the size of the carbon store. 
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Sticky Note

Recognise's the link between light and and seasonal variations and the impact on the carbon store.  



jamess

Sticky Note

Uses the resource as a stimulus or prompt, answer focused on explaining reasons. 
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Sticky Note

Confident second reason, with precipitation identified. 
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Sticky Note

Another reference to then resource to prompt explanation. 
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Band 3 5 marks 
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2. (a) Suggest two reasons for variations in the size of carbon stores shown in Figure 2. [5]
  


Figure 2: Carbon stores in selected biomes


0


100


Tropical
Rainforest


*Carbon store values include above-and-below-ground store
and soil store


Boreal
Forest


Temperate
Forest


Temperate
Grassland


Deserts Tundra


200


300


400


500


600


Source: Adapted from Olson, D.M., Terrestrial Ecoregions of the World: A New Map of Life on Earth


C
ar


bo
n 


S
to


re
 (B


illi
on


 to
nn


es
)*








 







 







 












 


 


 


 


 


 


 


 


 


 


 


  


2 








3 








10 
© WJEC CBAC Ltd. 


4. Examine how carbon pathways and processes vary over time.  
 
 
Content: 3.1.6 AO
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Indicative Content 
 
This question requires candidates to demonstrate their ability to develop a sustained line of reasoning which 
is coherent, relevant, substantiated and logically structured. 
The indicative content is not prescriptive, and candidates are not expected to cover all points for full marks. 
Credit other valid points not contained in the indicative content. 
 
AO1 
AO1 content encompasses knowledge and understanding of carbon pathways and processes.  
Development of this may include: 
• Knowledge and understanding of carbon pathways and processes between land and atmosphere: fossil 


fuel combustion, carbon sequestration and photosynthesis, respiration and decomposition  
• Knowledge and understanding of factors affecting carbon pathways and processes between ocean and 


atmosphere: absorption by biota, diffusion into and out of oceans  
• Knowledge and understanding of carbon pathways and processes between land and oceans:  through 


weathering of rocks on land by carbonation, the role of river transport as well as indirect movement via 
the water cycle and carbon sequestration in sediments.  


 
AO2 
Candidates demonstrate application of knowledge and understanding through an examination of the extent 
to which carbon pathways and processes vary over time. Responses may include: 
 
• Examination of variations within these flows over time e.g. land/atmosphere where photosynthesis 


processes operate unevenly throughout the day and year and respiration processes vary throughout the 
day and year in particular places. Rates of decomposition also increase over time where temperatures 
increase, increasing amounts of CO2 released 


• Credit examination of the short-term/fast nature of pathways between land and atmosphere and the 
relatively slow exchanges between atmosphere and ocean e.g. the relatively slow downwelling of 
carbon molecules to great depths of oceans where they may remain for centuries. Credit also an 
examination of the long-term/slow carbon cycle flows between land and the ocean as a result of 
weathering of rocks on land by carbonation as well as indirect movement via the water cycle and carbon 
sequestration in sediments over millions of years 


• Examination of specialised concepts to include adaptation (to maintain equilibrium), causality (changes 
within the carbon cycle), feedback (within the carbon cycle), mitigation (to maintain equilibrium) and 
resilience (of the system), amongst others. 


 
Marking guidance 
Near the upper end, answers that score highly will show application of knowledge and understanding by 
evaluating complex, interlinked factors, synthesising information, and may come to rational conclusions 
(dependent on the different carbon pathways and processes and how they vary over the both short- and 
long-time scales that are included). 
 
Responses in the middle range will show some application of knowledge and understanding to provide some 
discussion and synthesis, and may draw partially supported conclusions. 
 
Near the lower end, responses provide very limited application of knowledge and understanding of different 
carbon pathways and processes to provide little discussion. 
 
Credit other valid approaches. 
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Award the marks as follows: 


 AO1 (10 marks) AO2.1c (8 marks) 
 Demonstrates knowledge and understanding 


of carbon pathways and processes. 
Applies knowledge and understanding to 
appraise through examination the variations 
over time in carbon pathways and processes. 


3 7-10 marks 
Mostly accurate knowledge and 
understanding of the factors affecting the 
carbon pathways and processes. 
 
Developed exemplification. 
 
Well annotated sketches / diagrams may be 
used. 
 
Spelling, punctuation and grammar used with 
a high degree of accuracy. 


6-8 marks 
Well-developed and structured examination of 
how a range of factors can affect variation in 
carbon pathways and processes over time. 


2 4-6 marks 
Partial knowledge and understanding of the 
impact of the factors affecting carbon 
pathways and processes. 
 
Generalised exemplification. 
 
Simple sketches / diagrams may be used. 
 
Spelling, punctuation and grammar used with 
a reasonable degree of accuracy. 


4-5 marks 
Partial or unbalanced examination of how a 
range of factors can affect variation in carbon 
pathways and processes over time. 


1 1-3 marks 
Limited knowledge and understanding of the 
factors affecting carbon pathways and 
processes. 
 
Limited exemplification. 
 
Basic sketches / diagrams may be used. 
 
Spelling, punctuation and grammar used with 
limited degree of accuracy. 


1-3 marks 
Limited examination of how a range of factors 
can affect variation in carbon pathways and 
processes over time. 


0 0 marks  
Response not creditworthy or not attempted. 


0 marks  
Response not creditworthy or not attempted. 
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AO1 human 
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comment 
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factors outlined 
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pathway: between land and 
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4. Examine how carbon pathways and processes vary over time. [18]
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(b) Outline one way in which superpowers may influence flows of 
international migrants.  
 
Content: 3.2.2 AO
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Indicative content 
 
Candidates are expected to appreciate that powerful states exert influence and disproportionately 
attract or deter international migrants to their own advantage (cheap labour, lax H&S or environmental 
legislation), for example the USA has had significant influence over South and Central American 
nations in their desire to realise the ‘American Dream’. Would-be migrants may be influenced by new 
technologies such as Facebook.  
 
In identifying one way, candidates may refer to political strategies to develop cities as global hubs for 
investment and migration e.g. city states such as Dubai have used the cheap labour provided by 
foreign migrants to develop their infrastructure and thus to enable them to become a regional 
superpower. In the UK, some migrants are specifically targeted to be returned home (government’s 
“hostile environment” initiative). 
 
Marking guidance 
 
There is no definitive list of ‘superpowers’ and arguably, currently only the USA; hence need to give 
reasonable scope for candidates to consider a range of potential superpowers. To go beyond Band 1, 
candidates must go beyond describing why important states such as the UK and USA are attractive to 
migrants. 
 
Candidates may also consider the role of populist geography to include a range of perspectives on this 
issue. 
 
Credit other valid approaches. 


Award the marks as follows: 


Band Marks  


3 4-5 
Sound explanation of influence of superpowers and of why these nations (UK and 
USA) would have a disproportionate influence on migration. For full marks, one way 
should be fully developed. 


2 2-3 Explains the characteristics of superpowers that would influence global flows in a 
partially-developed way. 


1 1 Describes the attraction of superpowers to potential migrants. 


 0 Response not creditworthy or not attempted. 
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5(b) Outline o ne way in which superpowers may influence flows of international migrants. [5]
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7. Examine the success of actions to tackle refugee movements.  
 
 
Content: 3.2.3 and 3.2.4 AO
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Indicative Content 
 
This question requires candidates to demonstrate their ability to develop a sustained line of reasoning which is 
coherent, relevant, substantiated and logically structured. 
The indicative content is not prescriptive, and candidates are not expected to cover all points for full marks. 
Credit other valid points not contained in the indicative content. 
 
AO1 
AO1 content encompasses knowledge and understanding of the (causes, consequences and) management of 
international economic migration and the (causes, consequences and) management of refugee movements.  


Development of this may include: 
• Knowledge and understanding of actions to tackle refugee crises at a variety of scales including the work 


of UNHDR, national governments and NGOs and thus the challenges associated with the management of 
refugee migrations  


• Awareness of the powerlessness of some states in conflict or disaster zones in relation to flows of 
refugees, and thus the challenges associated with the management of such refugee migrations. 


 
AO2 
Candidates demonstrate application of knowledge and understanding through discussion of management of 
refugee movements. Responses may include: 
 
• Examination of the successes and failures associated with actions to tackle refugee movements at different 


scales. Candidates may recognise the complexity of the causes and consequences of refugee movements 
leading to the difficulties of managing them 


• Examination of changing actions toward refugee migrations over time; for example, the Syrian conflict and 
associated refugee movements could affect government priorities and lead to more successful management in 
future  


• Examination of success of management of refugee movements in contrast to other forms of migration (i.e. 
international economic migration) 


• Candidates may discuss the following specialised concepts in their answers: causality (drivers of global 
patterns of migration), globalisation (links between countries), risk (associated with refugees), and 
resilience (ability of neighbouring countries to cope with refugees). 


 
Marking guidance  
 
The focus of the question is about management of refugees, but it is expected that candidates will place the 
management of refugee movements in the context of the causes of these movements and the consequences 
and challenges that occur as a result of them. 


Near the upper end, answers that score highly will show application of knowledge and understanding by 
evaluating complex, interlinked factors, synthesising information, and may come to rational conclusions 
regarding the successful management of refugee movements. 
 
Responses in the middle range will show some application of knowledge and understanding to provide some 
evaluating and synthesis, and may draw partially supported conclusions. 
 
Near the lower end, responses provide very limited application of knowledge and understanding of the 
complexities of managing refugee movements. 
 
Credit other valid approaches. 
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Award the marks as follows: 


 AO1 (10 marks) AO2.1c (8 marks) 
 Demonstrates knowledge and 


understanding of actions to tackle refugee 
movements). 


Applies knowledge and understanding to 
examine the success of actions to manage 
refugee movements. 


3 7-10 marks 
Mostly accurate knowledge and 
understanding of different actions to tackle 
refugee movements. 
  
Developed exemplification. 
 
Well annotated sketches / diagrams may be 
used. 
 
Spelling, punctuation and grammar used 
with a high degree of accuracy. 


6-8 marks 
Well-developed and structured examination of 
the success of different actions to tackle refugee 
movements. 
 
Answer clearly appreciates the extent of the 
complexity involved in managing refugee 
movements successfully. 


2 4-6 marks 
Partial knowledge and understanding of 
different actions to manage refugee 
movements. 
 
Generalised exemplification. 
 
Simple sketches / diagrams may be used. 
 
Spelling, punctuation and grammar used 
with a reasonable degree of accuracy. 


4-5 marks 
Partial or unbalanced examination of the 
success of different actions to tackle refugee 
movements. 
 
Answer shows passing awareness of the extent 
of the complexity involved in managing refugee 
movements successfully. 


1 1-3 marks 
Limited knowledge and understanding of 
different actions to manage refugee 
movements. 
 
Limited exemplification. 
 
Basic sketches / diagrams may be used. 
 
Spelling, punctuation and grammar used 
with limited degree of accuracy. 


1-3 marks 
Limited examination of the success of different 
actions to tackle refugee movements. 
 
Answer shows limited (implied) appreciation of 
the extent of the complexity involved in 
managing refugee movements successfully. 


0 0 marks  
Response not creditworthy or not attempted. 


0 marks  
Response not creditworthy or not attempted. 
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content is 
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7. Examine the success of actions to tackle refugee movements.
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10. Discuss the view that the causes of migration are mainly 
human.  
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Indicative Content 
 
Within the answer to question 10, candidates should use the maps in Figures 5, 6, 7 and 8 and apply 
their knowledge and understanding from across the whole specification in order to develop a 
sustained line of reasoning which is coherent, relevant, substantiated and logically structured. 
The indicative content is not prescriptive, and candidates are not expected to cover all points for full 
marks. Credit other valid points not contained in the indicative content. 
 
AO1 content includes knowledge and understanding of the causes of migration.This may include: 
• Human causes of migration f.e. changing perception of places (and the opportunities they may 


create), poverty and technological change. The impact of globalisation and global events on 
communities may be a cause of international migration 


• Causes may be physical f.e. floods, earthquakes and drought.  


AO2 requires candidates demonstrate application of knowledge and understanding through 
discussion of the extent to which migrations are a result of human causes. Responses may include: 


• Discussion of the relative importance of different human causes as drivers of migration 
• Discussion of the relative importance of physical and human causes as drivers of migration  
• Discussion of the likelihood that physical and human causes may be interrelated e.g.disaster-


induced displacements are the result of human induced causes  
• Discussion of spatial or temporal variations in trends (some migrations may have largely physical 


or human causes or causes may change over time). 
 
AO3 may include: 
• Analysis of the data showing increase in international migration (Figure 5) 
• Analysis of the likely human and / or physical causes of migration in Cardiff (Figure 6) 
• Analysis of the human and / or physical causes of internal displacement of people (Figure 7)  
• Analysis of the human and / or physical causes of economic migrations and / or refugees 


movements that have led to changes in traditional inner-city places (Figure 8) 
• Synthesis of the figures e.g. relative human and physical causes of migrations (Figures 5,6,7 and 


8). 
 
Credit any other valid approaches. 
 
Marking guidance  
 
The question requires candidates progress beyond explaining changes and causes. At the upper 
end, answers that score highly will show application of knowledge and understanding by assessing 
the extent to which international migration has mainly human or physical causes, synthesising 
information, and coming to rational conclusions which draw across the Specification. 
 
Responses in the middle range will show some application of knowledge and understanding to 
provide some assessment of the extent to which international migration has mainly human or 
physical causes, synthesising ideas from across the specification, prior to drawing partially 
supported conclusions. 
 
Lower end responses provide very limited application of knowledge and understanding of either 
human or physical causes of international migration thereby providing limited assessment.  







25 
© WJEC CBAC Ltd. 


Award the marks as follows: 


 AO1 [10 marks] AO2.1c [10 marks] AO3 [6 marks] 
Band Knowledge and 


understanding of the human 
and / or physical causes of 
migration. 


Apply AO2.1c to critically 
discuss the human and / or 
physical causes of 
migration. 
 


Apply AO3 to analyse Figures 
5-8 to identify the human and 
/ or physical causes of 
migration. 


3 8-10 marks 
Mostly accurate knowledge 
and understanding of the 
human and / or physical 
causes of migration.  
 
Developed exemplification. 


8-10 marks 
Well-developed and 
structured discussion of the 
human and / or physical 
causes of migration.  


5-6 marks 
Well-developed analysis of 
Figures 5-8. 
  
Detailed use of data. 
 
Well-annotated sketches / 
diagrams may be used. 
 
Spelling, punctuation and 
grammar used with a high 
degree of accuracy. 


2 4-7 marks 
Partial knowledge and 
understanding of the human 
and / or physical causes of 
migration. 
 
Generalised knowledge of 
examples. 


4-7 marks 
Partial or unbalanced 
discussion of the human 
and / or physical causes of 
migration. 


3-4 marks 
Partial or unbalanced analysis 
of Figures 5-8. 
 
Generalised use of data. 
 
Simple sketches / diagrams 
may be used. 
 
Spelling, punctuation and 
grammar used with a 
reasonable degree of 
accuracy. 


1 1-3 marks 
Limited knowledge and 
understanding of the human 
and / or physical causes of 
migrations. 
 
Limited exemplification. 


1-3 mark 
Limited discussion of the 
human and / or physical 
causes of migrations. 


1-2 marks 
Limited analysis of Figures 5-
8.  
 
Limited or no use of data. 
 
Basic sketches / diagrams 
may be used. 
 
Spelling, punctuation and 
grammar used with limited 
accuracy. 
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Line 1 -4: A range of cases identified, providing a sensible introduction. 



jamess

Sticky Note

Reference to the first resource, helps embed the introduction. (AO3)
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Line 9-16: Use of case study to identify a cause of migration (AO1).
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Lines 18-24: Further causes and examples cited with subsequent hint at critical discussion of causes. (AO2)
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Lines 25 -31: Economic reasons as a cause of migration with examples. (AO1)
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Sticky Note

Lines 31 - 37: AO2 discussion of human influences of migration. 
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Sticky Note

Lines 42 - 44: Appropriate exemplification. 
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Sticky Note

Lines 45 - 48: AO2 comment showing clear grasp of government actions.
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Sticky Note

Use of figure 7 to support statement (AO3). 
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Sticky Note

lines 53 - 59: Uses ideas from across the specification to substantiate argument>
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Sticky Note

Different area of the specification used here, thus illustrating breadth of application of ideas. 
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Sticky Note

Lines 86 - 90: Discussion includes reference to specialised concepts. 



jamess

Sticky Note

Marks allocated: 
AO1: Band 3: 8 Knowledge and understanding drawn from across the specification. 
AO2 Band 2: 6 Partial discussion, although some missed opportunities to develop comments into discussion.
AO3 Band 1: 1 Limited use of resources. 












 


 


 


 


 


 


 


 


 


 


 


  


 


 


 


  


2 








3 








(1110U30-1)


6


© WJEC CBAC Ltd.


Section C: 21st Century Challenges


Answer either question 9 or question 10.


In your answer to either question 9 or 10, you should use the resources in Figures 5, 6, 7 and 8 and 
apply your knowledge and understanding from across the whole specification.


10. Discuss the view that the causes of migration are mainly human. [26]


Source: www.iom.int


Source: olivesandartichokes.wordpress.com
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Figure 5: Global increase in international migration, 1990-2015


Figure 6: Cowbridge Road, Cardiff: a multicultural community


Key:
% of global 
population







(1110U30-1)


7


© WJEC CBAC Ltd.


Figure 7: Causes of internal displacement of people by country, 2017


Figure 8: Poster displayed in mainline railway stations in Wales, 2015


END OF PAPER


Natural
Disasters 18.8


Conflicts 11.8


Total
30.6


CountryCause


Graphic shows number of people (millions) displaced by each
natural disaster/conflict type.


China 4.5
Floods 8.6


Armed 7.9


Storms 7.5


Ethnic* 2.4


* Ethnic, religious or inter-communal violence


Droughts 1.3


Political 1.0


Geophysical 0.8
Wildfires 0.5
Criminal 0.3
Other


Philippines 2.5


Cuba 1.7


United States 1.7


India 1.3


Other 7.1


Congo 2.2


Iraq 1.4


South Sudan 0.9
Ethiopia 0.7


Other 3.7


Syria 2.9


“I ASSIST AROUND
1000 CUSTOMERS
DAILY AND HAVE
BEEN WORKING IN
NATIONAL RAIL
STATIONS FOR
15 YEARS


„


NAME:  MARY CHASI
COUNTRY OF ORIGIN:  ZIMBABWE


OCCUPATION:  CUSTOMER SERVICE ASSISTANT


Source: The Economist


Source: iamanimmigrant.net
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